835E50SOL

Tools Required

Strumenti Richiesti
Bendtigtes Werkzeug

GLASS - VETRO - GLAS

E _
8+10 M6 x 16
10 +13.52 M6 x 20

13.52 + 17.52 M6 x 25

7.52 +21.52 M6 x 30

COVER
COPERTINE
ABDECKUNG

™

\

/

COM

®
.1 [ ]

XC-IM-835E50SOL  Rev.00



